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£ 250,000
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e 900,000
< 405,000
308 XX EHHSOIA 1,305,000 870,000 435,000
s 900,000
< 405,000
01 HIXNHHBNEES 1,305,000 870,000 435,000
O3S A ZEH(3MA) 1,305,000
s 900,000
< 405,000
SHEstatgs4 128,100 78,100 50,000
201 Let2d] 8,100 8,100 0
01 At 22l 8,100 8,100 0
OSyHEE 2230 E NE 2 A8E (0eE
25 10% 8,100
307 21201 A 10,000 10,000 0
02 QB LA EX 10,000 10,000 0
Osd 2043 2 UHAEAIEIHA 10,000
308 XX EHH SOl A 60,000 60,000 0
01 HXNHHBHEELS 60,000 60,000 0
O3H&E &3sh e 60,000
403 MtXSHHSA=0l& 50,000 0 50,000
01 XM A2E X 50,000 0 50,000
OZ0E =03 EX & HYAE FHi 50,000
SE2HFIEE 228 40,000 40,000 0
307 21201 A 40,000 40,000 0
04 QIZFHALAIH B = 40,000 40,000 0
Osgza2llgs 22H 40,000
S2303UHA 100,000 100,000 0
307 21201 A 100,000 100,000 0
04 DIZHHALALSE E X 100,000 100,000 0
OsE3H3UHA 40,000
Osg30E H&al 60,000
B A AA 25T A A S 1,530,000 0 1,530,000
s 1,530,000
403 XIS E X201 H 1,530,000 0 1,530,000
ras 1,530,000
01 XM A=2EE 1,530,000 0 1,530,000
OHAHAIE Z3HTH A A 1,530,000
s 1,530,000
Zso|e &3 ¥ 2F 9,443,700 13,142,000 23,698,300
s 7,658,000
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< 1,785,700
S3EM2 28 K& 1,491,000 8,008,000 26,517,000
s 1,491,000
403 MHXSHHSA=0l& 1,491,000 8,008,000 26,517,000
s 1,491,000
01 HXSHMA2E X 1,491,000 8,008,000 26,517,000
SFA JIES N2 AE 1,491,000
s 1,491,000
SgE2 248 N 1,000,000 1,784,000 A784,000
as 1,000,000
403 MtXISHHE X201 E 1,000,000 1,784,000 A784,000
s 1,000,000
01 XM A=2EE 1,000,000 1,784,000 A784,000
Ossggdlga ¢ 900,000
s 900,000
ORB=EAINER e & = 100,000
s 100,000
2SANE UTAISZE2XZ3(BTL) 1,900,000 1,886,000 14,000
s 1,900,000
308 X EHSOIA 1,900,000 1,886,000 14,000
s 1,900,000
01 HIXNSHHBNEES 1,900,000 1,886,000 14,000
O EZE 230 =32 (BTL) 641,000
s 641,000
OFUHEH T M2 (BTL) 223,000
s 223,000
OYZNE2stA L =HE(BTL) 734,000
s 734,000
OHE=8 233l 2 (BTL) 302,000
s 302,000
2oAE 28 & 29 X& 1,785,700 460,000 1,325,700
201 €82l 25,700 16,700 9,000
01 At 22l 11,700 11,700 0
O 20s2(2HF) 2 2l (0l &= 2H10%) 8,100
oz 2 D=2 MEAAS 2 (M aE2H
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308 XX EHH SOl A 320,000 170,000 150,000
01 HXNHHNBHEES 320,000 170,000 150,000
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